1. Find the general solution of the differential equation ty' +3y = cost
behave as t — +occ.

, t >0, and determine how the solutions
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2. Solve the initial value problem y’ — by = te*t,

tn 5kq*=ta

y(0) = a, where a is an arbitrary real constant.
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3. Given a series whose partial sums are given by s, = (Tn + 3)/(n + 7), find the general term a,, of the series
and determine if the series converges or diverses. If it converges, find the sum.




4. Find the sum of the following series or show thev are divergent:
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5. Write the repeating decimal 0.27 as a fraction.
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G. Use the t%st for Divergence to determine whether the series diverges.
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7. Determine if the sequence {a,, }.—, is_decreasing and bounded:
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8. Determine if the sequence converges or diverges. If converges, find its limit.
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9. Assuming that the sequence defined recursively by a1 =1, ap+1 = % (aﬂ + i—ﬁ) is convergent, find its limit.
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10. For what values of x the series Z('l:r — 3)"*3 converges? What is the sum of the series?
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12. Which of the following series converges absolutely?
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Suppose that the power series E el — 11" has the radius of convergence 4. Consider the following

- - - 'I?_l
JreLir |.|| NET
L [
) o J— -,
(I) } ead” (1) ) end”,
rn—| n=I

Which of the following statements is troc?
fa] (1) 15 convergent, (s divergent
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14. Show that the series Z— erges. Then find un upper bound on the error in using sio to approximate
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x
15. If we represent 17 0g2 28 a power series centered at a = 0, what is the associated radius of convergence?

L
ST NN h P B
=T e -0
Swuwmn
geomelric
Series with
Con ynon Taiio
_ o ax*t
4= Trxé\
L
9%
<
#I ¢ 4 l \r)\;‘:]?‘]
4y o x4

Title: Apr 25-10:21 PM (19 of 22)



(-2)"(3z — )"
16. Find the radius and interval of convergence of the series Z -
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17. Which of the following statements is TRUE?
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